N = 0l & At & Ml A

SH: BHAMD
FM: HE2IZH (SZAMD)(IIEH/IIE
chelr D123l (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
B 2 M 4,703,653 3,003,228 1,700,425
= 955,817
s 238,000
J| 93,900
< 317,846
s 3,098,090
HY2IZH (A D) (IIEH/DIEH) 65,971 61,968 4,003
JlEZl 65,971 61,968 4,003
JlE2zl 65,971 61,968 4,003
201 et 30,008 27,824 2,184
01 At 22l 25,808 25,424 384
OB+t 19,280
—ZgE) EH 2LUI(Zd)
330,000 +3& *2[H +33] 5,940
~DRED| EY RYUH(EW)
120,000& = 10CH »33l 3,600
—SAMI EH FLHI 300,000 *2CH 43 2,400
— SAMEX 2l 22,000 1208 A 2,640
—dE & #=E 15,000& x155+12& 2,700
— 28 25 S #IY ARSEY
50,000& x 105 %43 2,000
O=2gtl 8,000& x17H 44« 128 6,528
02 8323l 4,200 2,400 1,800
O2323 ¥ HMA 350,000& »12& 4,200
202 O4dl 30,923 29,104 1,819
01 = LH o4 4l 30,923 29,104 1,819
SN2 J=2AREX ofY)
120,000 = 17H »12& 24,480
OzANH(A2E B4 S)
75,8003 x17H «5 6,443
203 R =&l 5,040 5,040 0
04 EAN2IHRF=EHI 5,040 5,040 0
ORNSIALET (FA31 04)
420,000& 123 5,040
HIOIZ2XNEs & He(S#FES/HIIZ) 1,603,429 1,352,706 250,723
s 238,000
< 30,000
[ia 1,335,429
HII= ™2l 1,603,429 1,352,706 250,723
s 238,000
< 30,000
s 1,335,429
HIOIEXM2AE 29 1,027,529 789,206 238,323




SH: BHAMD
FH: HIISNS 2 Hel(#ZES/HIIE)
&2 HIIS2H™e (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 820,174 754,371 65,803
01 At 22l 614,801 584,158 30,643
oYt 2| 596,089
—MYIIBHH AASE ME 2Y
3532 *10H*13,000AI CH+12& 55,068
— MY IS PPOIOH MIZ 2
4502 =100 =1,000MI CH =12 5,400
—338 85 MH F(50)
106& *20,0000H 2,120
—HesZ 241 PPOLLH (40kg) &
200& x20,0000H 4,000
—MHEs8sE 22+ PPOIUIGIE) Y
6,000& x1,0000H 6,000
— XIS EN L ZEEEE MH
600& =1,0000H 600
—MYIJIEYSEI 2o HA
100,000& * 124 1,200
—EZH € NHES 22 EYMIHE WH
50,000& »200H 1,000
~EE UEHIIS AHL++R
280,000 x12E 68 20,160
—HJI=d8 24 2= 200,000& =102l 2,000
—MYIIH HHE HAED PY
200,000& x10&+53] 10,000
— X0 A2 A2F F2E
20,0003 x5&+128 1,200
— MYIIE LA ZAIESE
350,000& x4 3 *23| 2,800
—MYIIH HES 2BAMNLSE
331,000 1228 3,972
— MYIIE F=HXGHE BA=22
169,800& 95 x4 3] 6,113
—MYJIE =¥ 0SXots & sS4 ZA
=B 421,000& »23] 842
— A0 dJjtd e Hdle=2
200,000 »12& 2,400
— MYJIE CCTVE X === 110,000& «12& 1,320
—MEIIE RAFH == 220,000 122 2,640
— MW MBS FAE
22,000 20 128 528
—XNsX EIIFA =3 55,0002 601 »23] 660
—REHYE ESAA
1,500, 0002 *13] *30H A& 4,500
—MYJIfIMHelE Fatx HAH
100,000 *2H 2~ 200

— X0l ZAISt0c E23H MER
747,000& x 128 8,964




SN BEAMD
FH: HIISNS 2 Hel(#ZES/HIIE)
&2 HIIS2H™e (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— XgJ] ZAIDt0 EXNEAHE =8
1,000,000 *6H 2 6,000
—JtHdHIIE S
105,925.36& *4,000& 423,702
—HJI=2dE 2E3 4,000kg*15& 365 21,900
—SIMAEE BRIREY HIIYA 242
50,000 +8CH »23] 800
OZilstd & 338 WsH S 8,000
- &Y= 100, 000& »2021 23| 4,000
— OtM 5t 100,000& »20Q1 x 13| 2,000
—UEES 100,000& 2021 13| 2,000
o=zg=4¢ 1,400
—HIISHMeAlE FEIY FUXJAIIZ 2
E/A43 =4 70,0003 x5& %43 1,400
O= &l 9,312
—MYIIEI ¥ #HHX NEEET S A
8,000 *3F x4 A x 123 1,152
— 52 MaMY I =HI S
8,000 «10H 541« 123 4,800
—MYDIHEE HAZREN S4A
8,000& x 10 304 2,400
—2EHE I FA2RN S4
8,000& 20 64 960
02 =224l 205,373 170,213 35,160
OMYDIMHeld MRS 36,728
—-Jl2es 5,790& *350kwx 123 24,318
—ANER3 683 *500kwh*365 12,410
ORFIDF=& 0l & S48l 30,0002 «14CH =128 5,040
ONsSiEE 1,000
— =40 1,000, 000& *13] 1,000
Ozl 7,902
— MY JIE FAF HE AZH|
1,316.96& *404 =150 7,902
OA& & Hls X bl 49,500
— MgJIE A2 ZH 1,000, 0002 = 1CH 1,000
—gE8A MY 250,000 = 10CH 2,500
—MHESHEHE ANEZH B+
500,000& *43] 2,000
—HUIEEGE (RS, NE A, 4A) =H
2,000,000& »42 8,000
—dE=HeAEES 1,200, 000& *53] 6,000
— Ao dyely s Y &M
30,000,000& =14l 30,000
OXtg & et 105,203
— H322[(258) 5,000,000 =1CH 5,000




AN SIAMY

FH: HIISNS 2 Hel(#ZES/HIIE)
&2 HIIS2H™e (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—EIZEZ(5E) 3,000,000% = 1CH 3,000
- MNEaESXH(2.58) 2,000,000 = 1CH 2,000
— AT (5E) 5,000,000% = 1CH 5,000
—SASMYI A (5E)
3,000,000% = 1CH 3,000
— ERYARETH(5E) 3,000,000 =1CH 3,000
—HAXH(BE) 3,000,000 = 1CH 3,000
—=SEE=4| 2,000,000 =1CH 2,000
—=247 S50
1,789.23& x12.54 *3Al 2++300 20,129
—=SE8 ¥ 4
1,789.23& %104 *2A|2t+3002 10,736
—SASMYI I FFU
1,789.23& %104 *2A12t+3002 10,736
— 83z Y RFU
1,789.23& %104 *2Al2t+3002 10,736
—MHEsHg S5
1,789.23& x124 *1.2A12+%300 7,730
—AXEY RFH
1,789.23& %104 *2Al2t+3002 10,736
—E2YA 2N KFFH
800& *254 =300 6,000
—HAXY 7FH 800& *254 =120 2,400
202 O4dl 2,400 2,400 0
01 =L 4 Hi 2,400 2,400 0
Oxt&dEH & HIIE A 04l
10,0003 *8CH 11 %30 2,400
203 YR =&l 1,000 1,000 0
03 AIMZ=XH R =AH| 1,000 1,000 0
OMYIIAMARIE IR L HREA
20,0003 x10H «53| 1,000
206 M= Hl 11,435 11,435 0
01 M= 4l 11,435 11,435 0
OMYIIY Yo U ASUHE 7
30,0003 *14 =150 4,500
oXgJl &+ Melds e 6,935
—JDEASEAM 5,000& 2kg*365& 3,650
— MR 0E 300& *30kg*365 3,285
207 A O] 30,000 0 30,000
01 289 30,000 0 30,000
OFgAr=2te] HEgdE IS A
30,000,000 » 14 30,000
401 Al HIZ 201 I 82,520 20,000 62,520
01 A& HI 80,000 20,000 60,000




AN SIAMY

=ER

H-H2 - B9 (3H) - HEAY - BA=S dE = HRE2
0Ofl &F 08
oMeseel4+Hs 4X AtY
2,000,000 3504 &~ 70,000
Oe=X9 HU Y& EXAY
10,000,000 = 1Al 10,000
03 AlE 201 | 2,520 0 2,520
oMeseel4+HE 4X AtY
70,000,000 *0.036 2,520
405 XHA&HF S HI 80,000 0 80,000
01 XA 2 ZF S| 80,000 0 80,000
OMYIIl SYED| 2A ol 2
2,500,000& *32CH 80,000
g2 = 96,000 94,000 2,000
202 o4 | 6,000 4,000 2,000
01 2L I 6,000 4,000 2,000
oMegE38 +=H ol 20,000& *3H 100 6,000
301 et A= 90,000 90,000 0
12 JIEtE2 A= 90,000 90,000 0
oMess oijti2 X2 5,500,000& x12& 66,000
onMgss =8 &2 2,000,000 ~12& 24,000
= HUHY =A 139,900 139,500 400
202 04| 2,400 2,000 400
01 2L I 2,400 2,000 400
OsZHHlY £ b 20,000& 2% 60 2,400
301 et A= 137,500 137,500 0
12 JIEtE A= 137,500 137,500 0
OsZEHHY =HE A2 110& *1,250,000kg 137,500
Al 2 &9 340,000 330,000 10,000
g 238,000
= 30,000
= 72,000
403 XX S M S K201 & 340,000 330,000 10,000
hag 238,000
=} 30,000
= 72,000
02 2| 2S0 et =22 EAIS Y 340,000 330,000 10,000
O22 ==& NAAY 340,000,000& 340,000
g 238,000
& 30,000
= 72,000
NostAES(BHAES/RA) 2,696,259 1,277,865 1,418,394
= 902,844
J| 18,510
= 270,802
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SN HEAMD
M NS ES(BBES/AAH)
ool XeRE2E =X EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 18,268 21,320 A 3,052
= 12,670
s 5,598
01 At 22l 18,268 21,320 A 3,052
oMYl = ZH € 4887 7Y
2,000,000 =14 2,000
= 1,400
s 600
Ostd Mgl Melsd 232,400 *70E 16,268
= 11,270
s 4,998
OMES - A2 25 & Tl 253,960 158,800 95,160
= 30,600
< 18,180
e 205,180
Ot =2 Tl A 163,800 158,800 5,000
= 30,600
< 18,180
e 115,020
201 L2l 2,000 1,000 1,000
01 At 22l 2,000 1,000 1,000
OftdsE 822 &€ #x=23 7Y
1,000, 000& 14 1,000
OOfds= = HA +2  500,000&«2&*12] 1,000
202 04l 2,000 2,000 0
01 = LH 4 Hi 2,000 2,000 0
OdEE #x & Toiueg FEHHI
20,0003 »2H +50! 2,000
206 = Hl 3,000 3,000 0
01 =8l 3,000 3,000 0
O=s&s HoleXNE 2235 ¢
100,000& 30 3,000
301 et A= 54,800 50,800 4,000
< 9,000
[ia 45,800
12JIE243 54,800 50,800 4,000
OOtM=sZE T2 4 30,000,000& 30,000
< 9,000
e 21,000
O=&)| TNoiLXE FHOtMES2 L8 E43 18,000
— S XI (302014 LB E5)
300,000& »30¥ 9,000
— ety 30,000& =3000t 2/ 9,000
OO sE ToLXNE 288 X
160,000& 30 4,800




SH: BHAMD
M NS ES(BBES/AAH)
Sl OIMS - A2 25 o Tl CERED
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O0tMES=E 1283 243 50,000& *403| 2,000
402 RIZ2EXt20l ™ 102,000 102,000 0
= 30,600
< 9,180
[ 62,220
02 RIZEXt 2 AL EZ (OIS ) 102,000 102,000 0
OOMES= mollu &AL &XXA
2,000, 000& *85JH 2 *60/100 102,000
= 30,600
= 9,180
s 62,220
=g 29 90,160 0 90, 160
101 144 dl 80,160 0 80, 160
4 JI2ZtHZ22HEE =+ 80,160 0 80, 160
=84 otdae| ¥ 21|
66,800 x20H 60 80,160
201 LBt 7,000 0 7,000
01 At 22l 5,000 0 5,000
O+g8% 24g 2= M& 5,000,000& x 14 5,000
02 =24l 2,000 0 2,000
O3J GX BHAE #EIRIS S
500,000 =44 2~ 2,000
202 44l 3,000 0 3,000
01 = LH 4 HI 3,000 0 3,000
+PEA2Y 2T oHl(rEAID0E)
20,0003 x3H +50&! 3,000
IESE MZ2el 1,558,763 518,043 1,040,720
= 721,244
J| 18,510
< 216,622
[ia 602,387
HoltiE=g 4 ANEEH 14,600 10,760 3,840
201 Let2d] 9,800 8,360 1,440
01 At 22/ 4,500 4,500 0
Ogt=&H| 4,500
—ANEMFE(0L ) 2 60,000 254 1,500
—UINEE ANEMUHF ==
150,000 & +2F =100 & 3,000
02 2324l 5,300 3,860 1,440
Oz3&22= & HA 300
— NS XA 150,000 23] 300
OXte & Bl 5,000
— S50 ¥ XE==clhl 5,000,000& «1CH 5,000




SH: BHAMD
M NS ES(BBES/AAH)
Chel: QEEsE MZ2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
202 Od4dl 4,800 2,400 2,400
01 = LH 4 Hl 4,800 2,400 2,400
OUJIHEL A (U, 2dF, dHAHAEZ2 ) &
3 2 AZE FA2Z dHl 20,0003 x2H +70 2,800
Ol I+-ZIE=Rda FUE> 2 FI0H|
20,0003 »2H «50 2,000
NS IEHE0EA & 4,000 3,000 1,000
201 Let249] 2,000 2,000 0
01 At 22l 2,000 2,000 0
Oget==EH| 2,000
~=HI|0 AN 228
100,000& 55 13| 500
— =0l L REI| AHRX b
300,000 x5& 13| 1,500
202 O4dl 2,000 1,000 1,000
01 = LH o4 HI 2,000 1,000 1,000
OXNSX BHEIA S50
20,0003 x5 20 2,000
H=sUiESASE 2tel 17,120 13,800 3,320
201 €24l 10,620 8,300 2,320
01 At 22l 9,620 7,300 2,320
Oget=gH| 7,700
—SZFde M) EEE & Y A
50,000& x2& *83] 800
BERY LAIB CCTV MBSHM 42
100, 000& 24«12 2,400
—=22ZLH 85 7L 4,500
AAUA 400,000& 5K E 2,000
SXE 100,000 = 10MI E 1,000
FEXHE 100,000 10 A 1,000
NEWFHYE & 7 2,500 *200H 500
O= &l 1,920
—OFHEHS U ATQAAND HIAZSRR A
NIES 8,000 x5 441 «12& 1,920
02 =224l 1,000 1,000 0
OAIE ZHI S X 1,000
—oldEHE Y ELIAND =5 NREE
S0 2,000& %204 *53] 200
—NREE Y Hd2J|8 A =7l
100,000& =32 300
—22% EFII| =&l
100,000& 55 500
202 044l 6,500 5,500 1,000




SN BAAND
Hu: NoBALS(BPLS
& QIEEE M2 2 EEREEED)
- _ _ RE]
SA - B .G (3AH) - MBAY - BES %Ei HR=2
01 2L I 6,500 5,500 1,000
OtFXNEZ(HZ ,SMHE S) & 2242192
E=PSRe: N 20,000& x5 x50 5,000
Otisg A &3 StE 0|
30,000 23 x5! 1,500
SEYER2Y 25,296 24,204 1,092
201 fBt24Ay| 19,796 18,704 1,092
01 AP 22| H| 10,700 10,000 700
Ostd2d 82 ot M= 3,500
—E8= 5002 *x3,0000H x13] 1,500
— S 49 50,000 *200H & *23] 2,000
OB EE FOXA P2 Y ol
100 x10,0000H 43| 4,000
o=tz a&d /& B A
70,000& 10 23| 1,400
SEEDISET=E 2 422
100 10,0004 =13 1,000
Os2AWL RS rdaaE
802 *10,00021 13| 800
02 Z2=2=24%4| 9,096 8,704 392
SEEPEI=T s e@e 9.096
—So|d 1,960 3004 *23| 1,176
—YBR (8 2)
3302 x6,00021 x4 3| 7,920
202 04| 3,000 3,000 0
01 2L I 3,000 3,000 0
oBAMLRL o2 ETOol|
20,000& *3H x50 3,000
203 R F & 2,500 2,500 0
03 AIBF=AHRE 2,500 2,500 0
OstH s Al 20,000& x5 x253| 2,500
Sd0IE HMelA& 806,960 403,200 403,760
= 403,480
= 121,044
= 282,436
402 SI2F X0l & 806,960 403,200 403,760
= 403,480
= 121,044
= 282,436
03 2t/ EFAFS HI 806,960 403,200 403,760
OZd0lE HelXd 3,360,000 x2150 3 722,400
= 361,200
& 108,360
= 252,840




SH: BHAMD
M NS ES(BBES/AAH)
Chel: QEEsE MZ2el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OMASEE sdOIE NISHE XA
3,020,000 »280t 7 84,560
= 42,280
< 12,684
i 29,596
Qs SI2AE 23 N 400 400 0
= 200
s 200
301 et d = 400 400 0
= 200
s 200
09 SALAHIEA S 400 400 0
OZ2gLA(22Es) 25 It 243
400,000& 400
= 200
s 200
HOISHHE M E 22 14,690 2,250 12,440
201 Let24d] 13,250 2,250 11,000
01 At 22/l 13,250 2,250 11,000
Oget==EH| 13,250
—HII=S SH0HE &2 2471 2
500,000& *43] 2,000
—HIIZE M =2 250,000& x53] 1,250
— X HII2Xeldl 250,000& 40& 10,000
202 O4dl 1,440 0 1,440
01 = LH 4 Hi 1,440 0 1,440
OHJIS tHE=gax & HIIS s8™el &3 =
&0 20,0003 «2H 32 «12& 1,440
=2 22 20,000 0 20,000
207 & 00 &l 20,000 0 20,000
01 2284 20,000 0 20,000
O JI=EAMEHERYE NEEH =3 DA 29
=l 20,000,000& =13l 20,000
A8 2HSH N2 20,568 20,229 339
J| 18,510
< 1,028
[ia 1,030
301 LAz 20,568 20,229 339
J| 18,510
< 1,028
s 1,030
01 Ml28HE 6= 20,568 20,229 339
O&HIlH2HSH XS 20,567,200& x1H 20,568
J| 18,510
< 1,028




SN BEAMD
M NS ES(BBES/AAH)
ool 2YSH KHABL (B9 ®R)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
| o 1,030
IR HEILE HZAY 375,329 40,200 335,129
= 187,664
< 56,300
s 131,365
402 2I2HXHE01 M 375,329 40,200 335,129
= 187,664
< 56,300
s 131,365
02 QI E2AE EZ (OIS ) 375,329 40,200 335,129
OL® A|X XIIHK XA
1,608,000& = 180CH 289,440
= 144,720
[ 43,416
fia 101,304
OL® ZRT WML I (OPF) R XA
e 2,963,000 =3CH 8,889
- 4,444
< 1,334
2 3,111
OA&IIH DPF 22 XA
10,000, 000& »2CH 20,000
= 10,000
< 3,000
e 7,000
OAHEIAH WA XIH A
15,000, 0002 = 1CH 15,000
- 7.500
< 2,250
e 5,250
OLPGat2 Xt &IXt ¢ XI& 4,000,000 =3CH 12,000
= 6,000
< 1,800
[ia 4,200
OPNMNOXx &S Al M2 & X 15,000, 000& »2CH 30,000
= 15,000
[ 4,500
e 10,500
Helol SstxtEel LPGR &2t K& At 15,000 0 15,000
= 7.500
= 2,250
[ia 5,250
402 BI2FX=20| M 15,000 0 15,000
= 7,500
< 2,250
s 5,250
02 QI EALEZ (01X THE) 15,000 0 15,000
O0Ngol Sstxte LPGR & & X &
5,000,000 =3CH 15,000




SN HEAMD
M NS ES(BBES/AAH)
ool 2¥EE XA CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 7,500
= 2,250
= 5,250
E2 MHEIAHX M2ZALS 240,000 0 240,000
2 120,000
< 36,000
s 84,000
405 XHobF S HI 240,000 0 240,000
2 120,000
< 36,000
s 84,000
01 At EZFH S 240,000 0 240,000
OEILAXEYE P2 240,000,000 = 1CH 240,000
= 120,000
< 36,000
s 84,000
IIEE M=A 29 X N@ MY 4,800 0 4,800
= 2,400
i 2,400
402 RIZ2EXt20l ™ 4,800 0 4,800
= 2,400
e 2,400
02 RIZt Xt 2 AL EZ (OIS ) 4,800 0 4,800
ONEE MN=A2e & XA
160,000& »30CH 4,800
= 2,400
[ia 2,400
Ji=dstEg & e X2 198,000 86,300 111,700
= 112,000
< 36,000
e 50,000
HIAYSS AIRE 24JtA AE 28E XY 9,800 10,700 900
2 3,000
e 6,800
201 L4l 7,500 8,400 A 900
= 3,000
s 4,500
01 At 22l 7,500 7,900 A 400
OMEtAdEsdd EE2= A
2003 *2,50000 x3& 1,500
ORaltAZHAY 222 2Y
8,000& 1004 800
2 400
e 400
O2&AXNHALEHE 2523 ¥
200,000& »23] 400
= 200
[ 200




SN HEAMD
M NS ES(BBES/AAH)
Sl JISHSNS U R0IMH X CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O2&tAACHHALE S5
30,0003 »2H *80H 2 4,800
= 2,400
s 2,400
301 et d = 2,300 2,300 0
09 HALAHIEA S 2,300 2,300 0
ORUNARCALE DS &A
30,0003 »2H +x5& 300
OMEA=MMBAN A &A
10,000& *100H »23| 2,000
ESAZOIEN It I+ CIMEE Xz 23,200 23,200 0
= 10,000
< 3,000
s 10,200
201 £B-2%H| 2,000 2,000 0
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